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Exercise 3.1

1.000 C++00 °%

<code c> float limitedSquare (x) {float x; / returns x-squared , but never more than 100 /
return (x<-10.0 || x>=10.0) ?100: xx; }</code>0 0000000000000 0ODOOOOO
godooooooooon

<float> <id, limitedSquaare> <(> <id, x> <)> <{>

<float> <id, x>

<return> <(> <id, x> <op,"<="> <num, -10.0> <op, "||"> <id, x> <op, ">=">
<num, 10.0> <)> <op, "?"> <num, 100> <op, ":"> <id, x> <op, "*"> <id, x>
<}>
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<code html> Here is a photo of <b>my house</b>; <p><img src="house.gif”/><br/> see
<a href=“morePix.html”>More Picture</a> if you liked that one.</p></code>
g UUg o

<text, "Here is a photo of"> <nodestart, b> <text, "my house"> <nodeend, b>
<nodestart, p> <selfendnode, img> <selfendnode, br>

<text, "see"> <nodestart, a> <text, "More Picture"> <nodeend, a>

<text, "if you liked that one."> <nodeend, p>

Exercise 3.3

20 0000000000000 O0 -a(alb)a - ((gla)b) - (alb)a(a|b)(a|b) - abababa -
(aa|bb)((ab|ba)(aa|bb)(ab|ba)(aa|bb))
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want -> other* a (other|a)* e (other|e)* i (other|i)* o (other|o)* u (other|u)*
other -> [bcdfghjklmnpgrstvwxyz]

2.

a* b* ... z*
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